REAR MOUNT
P/N DESCRIPTION MODEL ET1747L SERIES

1859 14-001 |ETI7/47L-63WF - |
207124-001 |ETI747L-6UWF - |
990882-001 |ETI747L-7SWF-|
238212-001 |ETI747L-TUWF - |
945446-001 |ETI 747 -8SWF - |
136650-001 |ETI 747 -8UWF - |

EE5776-001 |ETI747L-9SWF - |
D45620-001 |ETI747L-9UWF - | —ll= | .0
D55621-001 |ETI7470L-0NWF - | DETAIL
FOO3I55-000 |[ETI747L-1SWF - | CENTERING LIP
SCALE 11
474
453
417
408
SEE DETAIL 100
I |
127 163 CENTERING LIP
B — 75 —
- g
& & & (] \ ool eafl 510 |[lee  Tlal0
) ) ) o &)
Q} $ I — SSS8382883883888338 8238388888888 8888S
f ) '8 O0OO0O0OO0O0OO0O0O0O0O0OQgOoOlo0 O O qOOOO0OO0OO0OO0O0OO0O0O0OO0
o OO0 OO0OO0OO0OO0OO0OQOloO O O [cHoNONCHONONONONONONONONG]
[2N3) OQO0ODDOPDOOOOOOQOIoO O O [cNCNONONONONCNONONONONONC]
® o ©00POOO0OO0OO0OOQOloO0 O O [cNcNoNcNONcNONCNONONONONG]
[CN3) OO0 0000 O0OQOolo0 O O [cNCNONONONONCONONONONONONC]
I, 338 gﬁ . @@OQOOOO?OCOOO O O qOOOO0OO0OO0OO0O0OO0O0O0OO0
(ACTIVE AREA) i ‘
P D—f ,ﬁoggg\ o o /6;5001 [/ﬁnnm —
275 °eee A . 100
270 70\\0 218 120 @' = 75
34| (ACTIVE AREA) ! l . 0000 ¢
(e O ‘.'.l- o o & 5 -]
I (€]
325 o .
©,21001400134 m@zo%m ® L] ° 30
721001300107 q} >
s B
_ ﬂ} \ - Q} O
ks ks ks ol ©|o e ® {@‘_J‘O ® e e|® | o f
‘ 346 | —= 389
DIGITAL
VIDEO
== —=p
A= ]
TV oo «Coe eam oodo '
‘NTEggﬁgE TOUCH POWER NOTED DIMENSIONS ARE FOR NON-TOUCH,
0<E éE%%iEACE CONNECTOR ACCUTOUCH, AND INTELLITOUCH ONLY.
FOR SECURETOUCH AND INFRARED TOUCHSYSTEMS
ADD 3.5 MM TO EACH MEASUREMENT. 3D CAD FILES AVAILABLE MS500485
DIMENSITONS ARE IN MILLIMETERS SHT. 1 OF 5 DATI?‘:E3:4-[2)5-05




REAR MOUNT
PLATE CUT OUT

‘ ————347*g4————————
+
347", —=
453 0 4X R5.8 290
10 == 4% R5.8
e LA 4X R5.8 T ‘ <Er27,
\
| l | ‘
\
| | 7 |
|
‘ \ + ‘& +
; — + 1 +
F40_6 ‘ ? i 237 ‘
+ | |
! 279 !
i %+ t 279t ¢ vr-— 17— 325 —— =1 -—-¢
+ +
| | ot | 275
| O |
| | 221 | |
29.4 " ‘ | * T T
‘ ‘ + ‘v +
[ + | 4 / [
\ | \ |
\ |
¢ | 18—~ L
¢
408
HORIZONTAL VERTICAL
INSTALLATION INSTALLATION THRU HOLES
(NO BRACKET)
INSTALLATION
o [© o] LICH| {efo [®*~ Te[®Jo 5\7 = - — -
NOTES FOR ALL MOUNTING OPTIONS
| . ALL DRAWING CENTERS ARE THE CENTER OF VIEWABLE AREA OF THE LCD PANEL,
2. IF CUSTOMER KIOSK MATERIAL IS WOOD:
@4.5 MM HOLES THRU FOR M4 SCREWS,
OR NO THRU HOLES, SCREWS FOR WOOD @4 MM,
3. IF CUSTOMER KIOSK MATERIAL IS SHEET METAL: I
CONCEALED HEAD THREADED STUDS M4 WITH NUTS.
SHT. 2 OF 5 TOUCHSYSTEMS
MS500485
DIMENSIONS ARE IN MILLIMETERS DATE!:ES-I‘-SS-OS




FRONT PANEL MOUNT OPTION

474 MODEL ETi747L SERIES Al
N FRONT PANEL —=|=— - 75 —»]
A 7 THICKNESS
"SEE TABLE" !
5 foe  [clol®
® o @
(7 ) §S=s==sss=sss:s3 ®
docococooooool | [©
— 338 — ﬁr@QOO Q000 —
(ACTIVE AREA) L | T 100
70 O®
ng 120 34 75
B 110
= 270 DZJ—L RIOmS = ° o—W A = 1
|| (ACTIVE AREA) - T o e @o —— © -
L4y 4 3 gg ggg 721001400104 7200800002 - I
©o A 721001300107 g >
© o [ONONG] 720202300002 4(5
\S ) b @ ®le
= AR o ® t@j@ ® o e[® [ @ [
/¢58* 389
= 4X 13.3 NOTED DIMENSIONS ARE FOR NON-TOUCH 67 —= FRONT PANEL
ACCUTOUCH, AND INTELLITOUCH ONLY.
FOR SECURETOUCH AND INFRARED, PIP NUMBER PIP DESCRIPTION MATERIAL “A” “B” COUNTRY
ADD 3.5mm TO EACH MEASUREMENT. o thicn
B FLO-PLATE I 7-MODULAR | MM
D/4916-000 MODULAR LCD QE%K‘NXNOD\ZED 437 30| USA
) ) 2mm THICK
C15502-000 |ELO-BEZEL-1TMOD STAINLESS STEEL 438 | 362 |CURO ONLY
-S5ST2-BK BLACK POWDERCOAT
) ) 2mm THICK
‘ | F84586-000 |-LQZBELEL-TIMOD STAINLESS STEEL | 438 | 362 |EURO ONLY
- = -SST BRUSHED FINISH
hlog— = = sy USE WITH ELO MONITORS
17 o] @u@;omu P/N DESCRIPTION
TOUCH 185914-001 |ETIT747L-6SWF - |
INTERFACE EngVEECTOR 207124-001 |ETI1747L-6UWF-|
USB 990882-001 [ETIT747L-7SWF - |
NTERFACE 238212-001 |ETIT47L - TUNF |
SERIAL 945446-001 |ETIT747L-8SWF-| '
ANALOG 136650-001 |[ETI747L-8UWF - |
R VIDEO F85776-001 |ETI1747L - 9SWF - |
D45620-001 [ETIT747L-9UWF - | SHT. 3 OF 5
: TOUCHSYSTEMS
DS5621-001 [ETIT747L-0NWF - | MS500485
DIMENSIONS ARE IN MILLIMETERS/INCHES F90355-000 |ETIT747L-1SWF-| DATEF:‘E(LJT-ZS-OS




FRONT MOUNT
PLATE CUT OUT

~— 453
+
419 0
0
— + +
- + +
=70
HORIZONTAL
INSTALLATION

721001300107

°9] {efo [©° PTe

NOTES:

+

10

342

olLeelos

O elop 0
O —
0000000000
6000000000
0000

VERTICAL
INSTALLATION

o

. ALL DRAWING CENTERS ARE THE CENTER OF VIEWABLE AREA OF THE LCD PANEL.

2. |IF CUSTOMER KIOSK MATERIAL IS WOOD:
@4.5 mm HOLES THRU FOR M4 SCREWS,
OR NO THRU HOLES, SCREWS FOR WOOD @4 mm

3. IF CUSTOMER KIOSK MATERIAL S SHEETMETAL:
CONCEALED HEAD THREADED STUDS M4 WITH NUTS.

DIMENSIONS ARE

IN MILLIMETERS/ INCHES

SHT. 4 OF 5

TOUCHSYSTEMS

MS500485

DATE: 04-25-05

REV: D




RACKMOUNT
MODEL ET1747L SERIES
FOR 19° COMPUTER RACKS

[ [
1
|gggg::;gggggggg:ggggggggg;ggggg| NOTED DIMENSION IS FOR THE NON-TOUCH
ACCUTOUCH, AND INTELLITOUCH ONLY.
FOR SECURETOUCH AND INFRARED,
ADD 3.5 MM TO EACH MEASUREMENT.
485
417 465
389 — 58 =~
r n B RACKMOUNT T
o . "SEE TABLE"
° ° I 399
311 o 108 (ACT\@EOAREA) 146
) ) 266
o o o ‘
. [ L tgx 7
- 338 —aJ<8x N
REMOTE (ACTIVE AREA)
0SD — 32
CONNECTOR
DIGITAL RACKMOUNT
CONNEC‘%% PIP NUMBER PIP DESCRIPTION
D34976-000 ELO-ITT7INCH-RACKMOUNT-BKT
[(fp o o»> [ Tul
P — = =T
I I USE WITH
ELO MONITORS
P/N DESCRIPTION
ANALOG
CONNEgQéE VIDEO TOUCH 185914-001 |ETIT47L-6SWF - |
CABLE . 207124-001 |ETI1747L-6UWF - |
CONNECTOR 990882-001 |ET|747L-7SWF - |
238212-001 |[ETI1747L-7UWF - |
945446-001 |[ET1747L -8SWF - |
736650-001 |[ET1747L -8UWF - | |
F85776-001 |ETI1747L-9SWF - |
D45620-001 |[ETI1747L-9UWF - |
SHT. 5 OF 5 TOUCHSYSTEMS
D55621-001 |ETI747L-0NWF - | MS500485
DIMENSITONS ARE IN MILLIMETERS F90355-000 FTI1747L-1SWF- | DAT::E\(;:I--ES-OS




